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Time Allowed: 90 Minutes Maximum Marks: 40

General Instructions:

Read the following instructions very carefully and strictly follow them:

1.

2
3.
4. There is an internal choice provided in each Sections.

o

This question paper comprises three PARTS — I, I, III. There are 69 questions in
the question paper.

. Part - I —Partnership and issue of share..

Part - II Analysis of Financial Statement and Ratio analysis.

Part-I, contains three Sections -A, B and C. Section A has questions from 1 to
18 and Section B has questions from 19 to 36, you have to attempt any 15
questions each in both the sections.

. Part I, Section C has questions from 37 to 41. You have to attempt any four

questions.

. Part II, contains two Sections — A and B. Section A has questions from 42 to

48, you have to attempt any five questions and Section B has questions from
49 to 55, you have to attempt any six questions.
Part I1I, contains two Sections — A and B. Section A has questions from56 to
62, you have to attempt any five questions and Section B has questions from
63 to 69, you have to attempt any six questions.

All questions carry equal marks. There is no negative marking.

Specific Instructions related to each Part and subdivisions (Section) is mentioned
clearly before the questions. Candidates should read them thoroughly and attempt
accordingly.
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PART -1
Section — A
Instructions: From question number 1 to 18, attempt any 15 questions.
F3er: w51 ST 1 9 18 T, FE oY 15 T3 g )

Q. 1 The central government has prescribed the maximum number of partners in a firm to be
under the act

a. 100, Indian Partnership Act 1932
b. 50, Indian Partnership Act 1932
c. 100, Indian Companies Act 2013

d. 50, Indian Companies Act 2013.

g AR 7 AtAHIT % dgd Uk B § W T ATEhas T
gt 1 2

a. 100, WL AT ATTAT 1932
b. 50, AT ATHGTLT SATETaT 1932
c. 100, st ot srferfaas 2013
d. 50, ATE Fat st 2013

Q 2 When the shares are issued at par for consideration other than cash which account will be
credited:-

ST QT TR qo I T e & SATAh el e TTAWhel o el ST TR 3 ST & ¥ i
o G T hiee o STar 22

(a) Securities Premium Account oo sifa=s @rar

(b) Capital Reserve Account ﬁ = Grar



(c) Vendor’s Account J=T Grar

(d) Share Capital Account DL ﬁ 9rdr

Q.3 Gain on forfeited shares that have been reissued is transferred to

Sted T T 9 % O TR o= g aTer e & T gEqrated T Srar g2

a. Capital Reserve 'j?n =T GTdT
b. General Reserve QTHTT {9 AT
c. Securities Premium Account EIGEAER IEREREIG

d. Share Forfeiture Account T RIHATT GTAT

Q.4 Porcupine Energy Ltd offered 1,00,000 Equity Shares of %10 each, of which 98,000
shares were subscribed. The amount was payable as X3 on application, ¥4 an allotment and
balance on first call. If a shareholder holding 3,000 shares has not paid the amount due on
first call, what is the amount of money received on first call?

T TASH feffHee 7 1,00,000 FHAT 94T, 10 TAT ST 932, ST T & forg g&qa 7.
T T 98,000 I F oUW AT M. T STHTIE 3 F ATAGT UL, 4 F ATae T U AT g1
TS T | T, 3T Ueh LT T8 919 3,000 3 A, F TIH H1S Aol &F v TIH FHieT
¥ foRaeT et TTeft uTe g2

(a) 29,000.

(b) 32,85,000.
(c) 32,91,000.

(d) %3,09,000.
Q. 5 What will be the correct sequence of events?

(i) Receiving Application for Shares. (ii) Issue of Prospectus.

(ii1) Allotment of Shares. (iv) Forfeiture of Shares

% T 98T 79§ T



(i) T F T A I Al (ii) Ffar=or ST FEAT

(iii) QrITT T AT FLAT (iv) 9T T STed HLAT

(@) (1), (iv), (i), (iii)
(b) (iD), (iv), (), (iii)
(c) (i), (1), (iii), (iv)
(d) (i), (iv), () (ii)

Q. 6. The Net Profit of the firm is 79800. The Manager is entitled to a commission of 5% on
Profits after charging such commission. Manager’s commission will be:

T FH T &E ATH 79800 | THLF I IH ATH H ST SHEHT HH [ Fled & A2 2, T 5% FT
FHTH fIT ST 8. IHHT FHTAA ZRIT

(a) Rs. 4200

(b) Rs. 380
(¢)Rs. 3990

(d) Rs. 3800

Q.7. Gaining Ratio is calculated by deducting

ATH ST T ITUAT e 2T FT el 52
(a) Sacrificed profit share from new profit share of the partner.
(b) Sacrificed profit share from old profit share of the partner.
(c) New profit share from old profit share of the partner.

(d) OId profit share from new profit share of the partner.

(a) 7T ATH | | AT gl ATH HeT ,
(b) TI ATH H & T 3T ATH 5T .

(c) T ATH H | TITAT ATH =T .



(d) T ATH & TAT ATH =T .

Q.8. Goodwill is accounted in the books if

(a) It is a Purchased Goodwill

(b) It is a Self-Generated Goodwill

(c) It is decided to be accounted by the Partners

(d) Its amount is paid by the Gaining Partner

% 7 & o =i 0 Teaeht | forat Srar g,
(a) Tl g2

OEEREISE
OEIESREFSEENIGEIR

(d) T AT SATH T ATl AT ZTT &7 T

Q.9. X and Y shared profits and losses in the ratio of 3:2 with effect from 1st April, 2019;
they decided to share profits equally. Goodwill of the firm was valued at Rs.60,000. The
adjustment entry for Goodwill will be:

(a) Dr. Y’s Capital A/c and Cr. X’s Capital A/c with Rs.6,000.
(b) Dr. X’s Capital A/c and Cr. Y’s Capital A/c with Rs.6,000.
(c) Dr. X’s Capital A/c and Cr. Y’s Capital A/c with Rs.600.

(d) Dr. Y’s Capital A/c and Cr. X’s Capital A/c with Rs.600.

X #T Y ATH G FT 3:2 H Fied 8. 1 I T Irgid ATH Al a9 qled F7 i o, e fa
T TATH 60,000 F THIT AT, AT FHTATSIA T R

a. 6,000 % q Y & e T X T Hize
b. 6,000 F & X F A AR Y FT e
600 ®q X FrfaT A= Y #r wfee
600 & T Y &I Sfae 3T X T #wfee

a o



Q.10. A and B were partners in a firm sharing profits or losses in the ratio of 3 : 5. With
effect from 1st April, 2019, they decided to share profits or losses equally. Due to the change
in profit sharing ratio, A’s sacrifice willbe .

AT B3:5Y ATH I &l Iied §. 1 30 | I ATH &l L& died & 7oy forar. =0
TfEds & A T AT 2.

a. 1/8

b. 2/8
c. Nil

d. (1/8)

Q.11. If a fixed amount is withdrawn by a partner on the first day of every month interest on
the total amount is charged for months

U ATEETE g U A2 et sfa 918 % uger fad @ a9 a& et 7241, gt el 7
SATST _ WRIAT T .

a. 5.5
b. 6
c. 6.5

d 7

Q.12. There are two partners in a firm P and Q. R is admitted into the firm for 1/3th share of
profit with the guaranteed annual profit of Rs. 18,000. Firm’s profit for the year is Rs. 42,000.
What amount of deficiency of profit would be given to R by P & Q from their share of
profits?

P 3T Q <7 ATEETT . R &1 ®H | 1/3 F2ea shforw et foRam 17 siie 39 18,000 = It
AT AT =T ST T g3, HH H7 TiThe 42,000 F g, R F TTET ATH 6T FHHT F[ P 3T Q
[ESEIREREIES]

(a) Rs. 21000 each (T 21000)
(b) Rs. 2000 each (I 2000)
(c) Rs. 4000 each (T 4000)

(d) Rs. 9000 each. (ST 9000)



Q.13. A and B are sharing profits and losses in the ratio 5 : 3. They admitted C as a partner
and gave him 1/5th share of the profits. He acquired his share equally from A and B. New
profit sharing ratio will be:

ZTHTAITT A ST B, ATH 1 | 5:3 &7 Fied o, C FI B T 1/5 B wferg errfwet o
ST I 79T FZEAT A ST B 41 & Fa aXa fordT, 5747 AT g Siqard g

(a)5:6:3

(b)2:4:6
(c)21:11:8

(d) 18 : 24 : 38,

Q.14. A company offered 2,00,000 shares for subscription to the public but the applications
were received for 150000 shares only. What will be the alternative before the directors of the
company assuming that the company follows the SEBI guidelines.

(a) The allotment will be confirmed to 2,00,000 shares
(b) The allotment will be confirmed to 1,50,000 shares and entries shall be made accordingly.
( ¢) The issue dissolves

(d) Pro rata allotment in the ratio of 3:4

TS AT T 2,00,000 MFT STAAT T ST A I T Faer 150000 2212 3 forg &t sweraer g
TU. HATARI o AT T fawed T o9 Faet SEBI # e fAaert &1 arae #edt 82

(a) 2,00,000 STFTT T SAT&E AT AT

(b) 1,50,000 &TITT T AT THAT SATANT A TATSAT T SATUSIT

(¢) T AT/ FHed g1 ST

(d) 3:4 F STATT | SAATIAE A& gHIT

Q.15. The Securities Premium Reserve Account is shown on the side of the Balance
Sheet under .

a. Asset, Current assets

b. Asset, Intangible assets



c. Liabilities, Long Term Provisions

d. Liabilities, Reserves & Surplus

sty Seaw @mar deiw offe & T of i & fammar Smar &,

a. THE, AT THE
b. THE, I THE

o o

c. ETHT, ST I TTa LT

d. Tt fea & 7w

Q.16. The excess amount which the firm can get on selling its assets over and above the
saleable value of its assets is called:

g SATere AT ST U FH 1 ST THEH T SATT IoF T a9 92 /el § Fgardi & .
a) Surplus arterFT

b) Super profits qaT AT
c) Reserve g7
d) Goodwill DI

Q.17. Goodwill of the firm is valued at Rs. 1,00,000 . Goodwill also appears in the books at °
50,000. C is admitted for 1/4 share . The amount of goodwill to be brought in by C will be :

T FH T BT 1,00,000 F fiehT T, BTl QToft geaahi 7 50,000 B. ¢ F7 V4 Be & forw
SITTeT TR AT T, ¢ ZTRT AT ST ATl T STt gl

(a) Rs. 20,000

(b) Rs. 25,000
(c) Rs. 30,000

(d) Rs. 40,000



Q.18. Which of the following is not recorded on the debit side of Profit and Loss
appropriation A/c?

(a) Interest on capital
(b) Salary of Partners
( ¢) Interest on drawings

(d) Transfer to Reserves

9 & 7 R AT 2T THTS @1 & Sfee gree ¥ Rl agt R S,

ORSIRIEIE]
(b) ATHETL FT I

(©) HATEIT X AT

(d) T § gEATa<o
PART I
Section B

Instructions: From question number 19 to 36, attempt any 15 questions.

T HEAT 19 F 36 T IS, 15 T il

Q.19. Amar and Akbar were partners in a firm. Their Balance Sheet showed Furniture at
3,00,000; Stock at %2,40,000; Debtors at X3,22,000 and Creditors at 50,000. Anthony was
admitted and a new profit-sharing ratio was agreed at 3:2:5. Stock was revalued at 32,00,000,
Creditors of 15,000 are not likely to be claimed, Debtors for 22,000 have become
irrecoverable and Provision for doubtful debts to be provided @ 5%. Amar’s share in loss on
revaluation amounted to 330,000. Revalued/revised value of Furniture will be:

FHT AT e U B T AT . I dolde § A=< 3,00,000 F, F21e 2,40,000, I7ETC
3,22,000 3T AT 50,000 & F 8. I A=ATAT Bl FAT ITEAL FATIT ST AT ATH gIT
ST 3:2:5. T I w2t &1 I, TH&ior 2,00,000 FHIT 7. S92 | | 15,000 F F9ETC
3TAT TEQT Tl T, 2,000 F IR 3TF qIATT Tel B, 5% T T F v 0T & o
FATHT 2. 9T T FT ZEAT 30,000 & 7 8. 5y i Bi= it 7h/Rarese dog F=r &2

(A) 33,17,000

(B) 22,03,000
(C) 34,03,000

(D) 32,83,000



Q.20. X,Y and Z are partners in a firm. At the time of division of profit for the year there was
dispute between the partners. Profit before interest on partner’s capital was Rs. 6,00,000 and
Z demanded minimum profit of Rs. 5,00,000 as his financial position was not good.
However, there was no written agreement on this point. How will the profit be distributed?

(a) Other partners will pay Z the minimum profit and will share the loss equally.
(b) Other partners will pay Z the minimum profit and will share the loss in capital ratio.
(¢) X and Y will take Rs. 50,000 each and Z will take Rs. 5,00,000.

(d) Rs. 2,00,000 to each of the partners.

X,Y 3T Z UF ¥ § GTHAGTE 5. ATHAT & dedTL & G0 TTeAL 21 % o9 Aqawg gl 4T, Il 9%
TS | Tgel T AT 6,00,000 & FT g ¥ Z 5,00,000 & ¥ T FT TGT & Fh ST A1
ot $ter AET 2. AT S S 1= Fls (I (ad THATAT Al goll §. TATT ATHI T T el

gI?
(a) ITh qTEAT Z FT =IATH ATH & & ST FTI Tl T i

(b) FTTh ITEAT Z T ~ATH ATH & & 3T ATH il FTE il
(¢) X 3T Y 50,000 -50,000 & =¥ 3fT Z &7 50,0000 T ¥

(d) eI ITEA< F7 2,00,000 & FAT

Q.21. A and B are partners sharing profits and losses in the ratio of 5 : 3. On admission, C
brings Rs 70,000 as capital and Rs 43,000 against Goodwill. New profit ratio between A, B
and Cis 7 : 5 : 4. The sacrificing ratio of A and B is :

ZTATARTE A ST B, @19 BT | 5:3 &7 aied &, C T ®H | oTiHe 36T 11 517 70,000 &
ISIT 3T 43,000 & BATI o7 AT, A, B 3T C &7 9797 ATH T IqaTd 7:5:4 AT, A &

B T TN SATATT 2T .
(@)3:1

(b)1:3
(c)4:5

(d) 5:9



Q.22. Assertion(A): Average Normal Profit as Calculated is multiplied by number of years'
purchase to determine the value of goodwill. S TTHTET ATH T HT TUT T FEITH AT
FTeh ST T AT T SATAT

Reason(R ): Number of years' purchase means the number of years for which the firm is
likely to earn same amount of profit after change in ownership becomes of the efforts put in
the past

T AT T TEAT F ATHATT & T Tq9 9T T FH FT THIT ATH g 6T FATIAT &,
(a) R is correct but A is not correct (R &l ¥ A )

(b) Both A and R are incorrect (R 3T A ST 1)

(c) A is correct R is not correct (A TET 3T R o)

(d) Both A and R are correct (R 3T A ST 9&Y)

Q.23. A, B and C were partners in a firm sharing profit and losses in the ratio 2:2:1. D is
admitted as a new partner The partners decide to share future profit and loss in the ratio
4:3:2:1.Their Balance sheet as on that date showed a balance of Rs.45,000 in Advertisement
Suspense account. The amount to be debited respectively to Capital account of A, B and C
for writing off advertisement Suspense account will be:--

A, B 3% C & B § 2:2:1 § AT T T F2a<T F2d &. D %I H 7 Ja9r oar . s 7
IHT AT ATH ST T AT 4:3:2:1 . I [ 3701 I offe & Fosmos aeiw |ra
45,000 ¥ 2. T AT A, B, C @1l # Foha«r gt 2fae i STasiT,

(a) 18,000, 18000 and 9000
('b) 15000,15000 and 15000
(c) 21000, 15000 and 9000

(d) 22500, 22500 and nil

Q.24. Charulata is a partner in a firm. She withdrew Rs.10,000 in the middle of each quarter
during the year ended 31st March, 2019. Interest on her drawings @ 9% p.a. will be:

FATEAAT Ueh FH | ITeA< 8. F T fAATet 7 77 7 10000 & FAawTerd’ 8. I g 92 AT
9% aTTe * fZara & 2T

a. Rs.1,350



b. Rs.2,250
c. Rs.900
d. Rs.1,800

Q25. A Y and Z are partners in 5 : 4 : 1. Z is guaranteed that his share of profit will not be
less than Rs.80,000. Any deficiency will be borne by A and Y in 3 : 2. Firm’s profit was
Rs.5,60,000. How much deficiency will be borne by Y ?

A,Y 3T Z 5:4:1 % 97T H GTHAIR ¢, Z T a9 80,000 & o ATH =hl TTaT &F Y 8. T0H
Fre AT FHT A ST Y 3:2 Q0 F4A. FH 7 ATH 5,60,000. AT, Y FTT Tovaet F#ft 21 T

ST,

a. Rs.2,14,400

b. Rs.14,400
c. Rs.2,09,600

d. Rs.9,600

Q26. For which one of the following, the balance in the Securities premium Reserve Account
cannot be used?

(a) To write off the preliminary expenses of the company
(b) To pay a premium on the redemption of preference shares of the company.
(¢ ) To pay interest on the debentures of the company

(d) To pay for buyback of its own shares.

o 7 7 e fase & oo ap e siffem s ara & st w=t o s
(a) TTEIH @I % T A FLA % (o1

(b) TATTEHTT AT o T I STTHIH FT AT F7A 6 o1

(¢ ) 9T T=1 9 SATST T ST e o (o0

(d) T3 F I T AU @EE * o



Q27. E Ltd. had allotted 10,000 shares to the applicants of 14,000 shares on a pro-rata basis.
The amount payable on application was Rs.2. F applied for 420 shares. The number of shares
allotted and the amount carried forward for adjustment against allotment money due from F

will be

(a) 60 shares; Rs.120
(b) 340 shares; Rs.160
(c) 320 shares, Rs.200

(d) 300 shares; Rs.240

E ferffie= 7 10000 21 T e 14000 ST=eeT] 1 dqaTd ¥ 6. sfraa a2 2 & uid
AT TT ST €. F 7 420 1<t 3 o1 strerae FohaT o1, F T siraifed 36 10 9w ST arees
F TorT uestee &t T2 Teft ST T AT o F SIS TS,

(a) 60 &TIT ; Rs.120
(b) 340 99T; Rs.160
(c) 320 9197, Rs.200

(d) 300 9r9%; Rs.240

Q 28. Match the following
i. Sacrificing Ratio

ii. Gaining Ratio

iii. Revaluation Account
iv. Admission of a Partner
e -

i. T ST

ii, AT STTATT

iii. TIHATHT GTaT

iv. 9TEAT T T9T

Nominal Account
Reconstitution of Partnership

New Ratio — Old Ratio

o 0w »

Old Ratio — New Ratio

A. FTHHTT @TAT

B. HTHET &1 I Hoed
C. AT — TTET ST
D. TRTET — 73T AT



a) i- B, ii-C, iii-A, iv-D
b)i- D, ii-B, iii-A, iv-C
¢) i- D, ii-C, iii-A, iv-B
d) i- D, ii-C, iii-B, iv-A

Q29. Assertion (A) : In order to compensate a partner for contributing capital to the firm in
excess of the profit sharing ratio , the firm pays such interest on Partners’ Capital.

Reason (R) : Interest on Capital is treated as a charge against profits.
a. Both A and R are true and R is the correct explanation of A

b. Both A and R are true and R is not the correct explanation of A

c. A is true , but R is false

d. A is false , but R is true

ST (T): AT % FATL o ST & SATeF FH I IS(1 T TNTETH FHI o (o0 Tk AHIETT
T ATAIId Fe o o0, B ARAGET T IS 9% TH G9g & 4TSl T ST Hdl gl

T (R) : GS(T T2 ATST T ATH o T ATST & =T H HHT S(1GT 8
(T) A 3T R TH1 97 g 3T R, A &t 2T =AT=AT F2aT 8

(1) A 3T R T4T 7T 8 T R, A T T SATEAT 78l H7aT g
(F1) WY &, S S T

(3T) T HET &, AT e e

Q30. When forfeited shares are reissued the amount of discount allowed on these shares
cannot exceed :

(a) 10% of called-up capital per share
(b) 6% of paid-up capital per share
(c) The amount received per share on forfeited shares

(d) The unpaid amount per share on forfeited shares

ST e 3T T 9t 7 TR | ST TRt STTaT € 7 3 Q9T 9T AT ge b 19T Srfern
Tl BT T B



() ey QT2 ier-arT ST 7 10%

(&) T o =gt I T 6%

GUEE KRR ISEIR e 1t KR

(1) Tad AT O i QT T 7 gS A

Q31. The subscribed share capital of Mukand Ltd is Rs.1,00,00,000 of Rs.100 each. There
were no calls in arrear till the final call was made. The final call was paid on 97,500 shares.
The calls in arrear amounted to Rs.87,500. The per share final call was :

A)Rs.20
B)Rs.35
C)Rs.25

D)Rs.45

e ferfies it germrges A9 ISt 100 ¥4 % 1,00,00,000 03 g1 ${fqw e 0 S
TS FRTAT Al ATI AT TS AT T FT @ 97,500 AT T AT TAT AT THTAT FHiAl il
T7tor 87,500 =04 ofY| wfer 9 sifaw =ier of:

T) .20
#1) %.35
) ®.25
2T) %.45

Q32. A, B and C are partners sharing profits in the ratio of 4 : 3 : 2 decided to share profits
equally. Goodwill of the firm is valued at 10,800. In adjusting entry for goodwill :

(A) A’s Capital A/c Cr. by 4,800; B’s Capital A/c Cr. by 3,600; C’s Capital A/c Cr. by 2,400.
(B) A’s Capital A/c Cr. by 3,600; B’s Capital A/c Cr. by 3,600; C’s Capital A/c Cr. by 3,600.
(C) A’s Capital A/c Dr. by 1,200; C’s Capital A/c Cr. by 1,200;

(D) A’s Capital A/c Cr. by 1,200; C’s Capital A/c Dr. by 1,200



A, B 3T C ATHETT & ST 4:3:2 & ST | ATH qled g S ATH Tl 919 €7 F Fied F7 =g
I 21 R Y =T 10,800 =ikt 2 g1 =AY F forw wfaf® iy agmntoa w3 9

() T T ISt @At shiee 4,800 FIT; & T GoT @1av swiee 3,600 FIT; | &t GoiT @rar
T 2,400 FTTI

(&) T T ISt @Tar e 3,600 FIET; &t AT IS @TaT wiee 3,600 FIT; € AT g @rar
=22 3,600 TFI

(*T) T FT I @Tar SfEe 1,200 FTT; | E ST ETar wee 1,200 FRT;
(1) T AT ISt @TaT wiee 1,200 To; # AT IS @rar Sfee 3T 1,200.

Q33.Vishnu Ltd. forfeited 200 shares of 10 each, 8 called up, on which Jugnu had paid
application and allotment money of %5 per share, of these, 150 shares were reissued to Parker
as fully paid up for 26 per share. What is the balance in the share Forfeiture Account after the
relevant amount has been transferred to the Capital Reserve Account?

(A) %0
(B) 2150
(C) 2250

(D) 2900

faroup ferfiee & 2 10 o= % 200 97, 5 o7 orfy 9 3 8 e fond 1T o, T STeq &< foraT
S 9 A A 35 I 9 F TR ST e AT AT AT AT AT, TR & 150 997
T AT 2 6 T A 3 forw i v & R & &9 § 6 § ST e o ) "@ete e
T Fftee Ford =T | TAEIaa F39 & 978 Q9% el @rd J AT TfLr 747 82

(M0

) 2150
(71 2250
(31) 2900

Q.34. A Building was purchased for Rs.9,00,000 and payment was made in Rs. 100 shares at
20% premium. Securities Premium Reserve A/c willbe ...................



(A) Debited by Rs.1,50,000
(B) Credited by Rs.1,50,000
(C) Debited by Rs.1,80,000

(D) Credited by Rs.1,80,000

T 79 9,00,000 FTF F GG ITAT AT 3 qIATT 792 H 77 137 971 20% FH=H 92 100

() 1,50,000 =72 1T e FoRar sram
(&) 1,50,000 FF FIT STHT AT 727
(¥T) 1,80,000 . ZTT fare foRam T

(3) 1,80,000 T g 59T AT 1207

Q35. Capital invested in a firm is 5,00,000. Normal rate of return is 10%. Average profits of
the firm are 64,000 (after an abnormal loss of 4,000). Value of goodwill at four times the
super profits will be :

(A) 72,000
(B) 40,000
(C) 2,40,000
(D) 1,80,000

e FH # fAerer Y T 9GS 5,00,000 F1ATTHT T HHTT 7T 10% g1 FH T SHET ATH 64,000
2 (4,000 FT STETHT T o 973)| AL T The & AT AT 9¥ SATT FT ToF gRIT:

() 72,000
(1) 40,000
(1) 2,40,000

(37) 1,80,000

Q36. A company forfeited 3,000 shares of Rs.10 each (which were issued at par) held by
Kishore for non payment of allotment money ofRs.5 per share.The called up value per share
was Rs.8.0n forfeiture, the amount debited to share capital:



A)Rs.30,000
B)Rs.24,000
C)Rs.15,000

D)Rs.6,000

T HOHT 7 5 &G T AFT T AT A9 T SRIATT T HLA 3 (o0 heliT g7 76 0 10
O (ST HHHET 9T ST 30 T0) 3 3,000 327 T STeq 2 fordT| Tid 97 7 57 8 79 7|
STt O, T e it T2 9= O

T) % 30,000
#T) % 24,000
) €.15,000

2T) % 6,000

PART -1
Section—C
Instructions: From question number 37 to 41, attempt any 4 questions.

Question no’s 37 and 38 are based on the hypothetical situation given below.

Q 37-38 Read the following case and answer questions from 37 and 38 based on it.

Nidiya Limited was incorporated on 1** April 2017 with a registered office in Mumbai. The
capital clause of the memorandum of Association reflected a registered capital of 8,00,000
equity shares of Rs.10 each and 1,00,000 preference shares of Rs.50 each. Since some large
investments were required for building and machinery the company in consultation with
vendors, Ms.VPS Enterprises, issued 1,00,000 equity shares and 20,000 preference shares at
par to them in full consideration of assets acquired. Besides this the company issued 2,00,000
equity shares for cash at par payable as Rs 3 on application, 2 on allotment, 3 on first call and
2 on second call.

Till date the second call has not yet been made and all the shareholders have paid except Mr.
Ajay who did not pay allotment and calls on his 300 shares and Mr. Vipul who did not pay



the first call on his 200 shares. Shares of Mr. Ajay were then forfeited and out of them 100
shares were reissued at Rs.12 per share.

Based on the above information you are required to answer the following questions.

Eer : o7 94T 37 | 41 TF TRl 4 A N FA HL

T /AT 37 3% 38 = &t T2 Freataw Rufa ax swatiRa g1

T 37 -38 U2 37 3 38 & fAeferierd Awer 3 HaTal & Sara a7 & o 39 9% e gl

Nidiya Ltd. 1 9= 2017 ® "< qas § Gs(15ha wATAT ATHA 6T TAT AT | THITHULAT &
FATIA T TS G2 8,00,000 FT T TSt Gl THEATerd 10 F937 & el a2l Toih i
50 & % 1,00,000 FEFAT A7) Fih FwI0T i #weft=dt & o = a2 [aer it sraeawar
ofF, doeT 7 fasharsit & 9wmael ¥, Ms.VPS Enterprises 7 1,00,000 Tf&dl 99 3fi¥ 20,000
ATEATHT T I FEe ST fovw, ST o7fSTa /oty & quf o= § ) 3906 SemaT, Foet o
2,00,000 TTEET 9T Foha o forT ST FoRT, ST rerae 9% 3 ¥99, Sfrded 9¥ 2, 98l Fild 9¥ 3
ST AL e 9T 2 o FLaY 37 |

T T AL ATAAT Al 1 T2 ¢ AT =T T FT FIEHL THT AATATTHT 7 AT F2 AT E,
SFgle sfrded &7 T[T A8l (AT oY 9 300 I 9% et it i =t f@Fgar F s+ 200
LT U TEAT Tl AT AT Al 16T | AT 51T F T AT T STeq FHY [orAT TAT AT 37
IH & 100 9= &1 12 03 I 97 9% Foe & ST o =m)

SURIE SITAFRTLT % SATLT 9T SATThT Aot T=I7 & 39 a gl

Q37. How many equity shares of the company have to be shown as subscribed?
a. 3,00,000
b. 2,99,500
c. 2,99,800

d. None of these



FIAT * o tadl 9T T geawTzes & =9 ¥ fe@mar ST g 2
) 3,00,000
1) 2,99,500
) 2,99,800

) TH T FE TR

Q38. What is the amount of security premium reflected in the balance sheet at the end of the
year?

a. 3200

b. 2600

c. T400

d. 2 1,000

9 o ofq | Soig ofie 7 aivertera grer shfa=m it 2ty #4732
T) 2200

&) T 600

) 2 400

¥T) 2 1,000

Question no.’s 39, 40 and 41 are based on the hypothetical situation given below.

Read the following information carefully and answer the question number 39 to 41 on
that basis

Information:

The profit for the last five years were:

Year Ended Profits (Rs.)

31st March,2017 2,00,000 (including gain of Rs. 25,000 from
sale of fixed assets)




31st March,2018 1,70,000 (Including abnormal loss of Rs.
50,000)

31st March,2019 2,10,000

31st March,2020 2,30,000

31st March,2021 2,50,000

T HEAT 39, 40 AT 41 = & T2 Freut«s Roafa o< sratia g1
Rl Tt F 1 samgE s Ife 3} S Sie< 9% W% 66T 39 7 41 F SU< Eog

o o= ot 3 Ty o

quTH a9 T (].)

31 97+, 2017 2,00,000 (3r=rt Tafxrat &1 f3sfy 7 %. 25,000
F 919 gf2a)

31 |74, 2018 1,70,000 (FTF 50,000 3T STEHTHTT gT
#iEa)

31914, 2019 2,10,000

31 97,2020 2,30,000

31 91, 2021 2,50,000

Q 39. Capital employed in the firm is Rs. 15,00,000 and normal rate of return in similar
businesses is 10%. What is the amount of Actual Average Profit?

(a) Rs. 2,50,000
(b) Rs. 1,20,000
(c) Rs. 2,17,000

(d) None of the above

wH H AR OSft #115,00,000 S G761 G § AT 6 AT 32 10% 8 | aredias®
e AT T LA FT G 2

(T) % 2,50,000



(=) % 1,20,000
(71 % 2,17,000

(ST) IULE | F L ALY

Q40. What is the amount of Super profit
(a) Rs. 60,000
(b) Rs. 55,000
(c) Rs. 62,000

(d) Rs. 67,000

U< TiTthe &t i FAT 8
(T) & 60,000

() = 55,000

(1) % 62,000

(1) % 67,000

Q41. Value of Goodwill at 3 years' purchase by super profit method
(a) Rs. 2,00,000
(b) Rs. 2,01,000
(c) Rs. 2,50,000

(d) Rs. 1,50,000

¥ TiThe T 3T 3 |1 6l @Y ¥ ST & 7
() % 2,00,000
(1) 2,01,000

(1) % 2,50,000



(1) ¥ 1,50,000

PART -l
Section—A

Instructions: From question number 42 to 48, attempt any 5 questions.

Toaer « o1 |eAT 42 | 48 @ Tohegl 5 WoIT T gf hiforu)

Q 42. Assertion (A): Prepaid Expenses are not considered as liquid assets
Reason (R): Prepaid Expenses cannot be converted into cash

(a) Both (A) and (R) are true and (R) is the correct explanation of (A)

(b) Both (A) and (R) are true and (R) is not the correct explanation of A
(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

TMET (T): TUT 20T FT G0 G o6 & | A1 HEAT ATAT 8
FIOT (3MX): T =07 7 7o | gt 981 oA ST asar g
() T () ST (39) A & ST (A7) (7) FT FEF ATEAT &
(3T) FT () ST (A1) T & AT (1) T T A ATAT TN 8
(&) (0) 7 &, AT () A2 §

() (T) T &, A () 7 &

Q43. Choose the correct option from the following statements:

Statement I — Suppliers of long-term funds are concerned with firm’s long term solvency
Statement II — Investors are interested about the credit worthiness of the firm.

(a) Only Statement II is true

(b) Only Statement I is true



(c) Both Statements are true

(d) Both Statements are false

et Foaet & & a2t e 94
TAT [ - AT STATE % HE  ATLAHAT HH 0l QTHRT[oTh HIea T F FATed 5
FA 11 - faers w1 i 9 TTar & 9§ & @ 2|

MEEEEREDIE T
CUEERERESIOE
GUERLIERLE:
CULIELERLE X

Q44. Quick Assets = ?

(a) Current Assets — Prepaid Expenses

(b) Current Assets — Inventory — Prepaid Expenses
(c) Current Assets + Inventory — Prepaid Expenses

(d) Current Assets — Inventory + Prepaid Expenses

@ "y =2

(T) FFETT HOf= - e =217

(&) FdE Fufxy - g= T - e =1y
(&) Ftwm gty + g4 - fie =
() FdwT Fufxy - AT + foe =T

Q45.There are major heads of the equity and liabilities side of a company’s
balance sheet.

a.2



b.3

d. 1

FIAT AT S offe  Zhaet T T T o gl
(M) 2
) 3
(¥ 4
)1

Q46. Lower the Gross Profit Ratio, will be the profitability of a company.
a. higher

b. lower

c. equal

d. None of the above

FH e ATH AT & qF Ol hl ATH &7qar g |
(T) SgaX

CHER

GUERERED

(F)zTH T FE o T

Q47. The Debt Equity ratio of a company is 1: 2. Purchase of a fixed asset for Rs. 5,00,000
on long term deferred payment basis. Debt Equity Ratio will:

(a) Increase

(b) Decrease



(c ) Remain constant

(d) Not change.

T T T ST Shaet SIqaTd 1: 2 g1 &7 & forw ua A2 gufxy &t @die) @t qater #
HTET T ST & AT T 5,00,0001 07 ST SAqara SITT:

(W) qf&

(1) et

(#1) e 7=
CRBEEREE

Q48. Financial analysis become useless because it :
A) Measures the profitability

B) Measures the solvency

C) Lacks qualitative analysis

D) Marks a comparative study

[ERIREEE PRI IR RIUETRER

T) ATHIEAT &l ATIAT &

T) e AT &l ATIAT §

1) oTTeH T T AT

) TF TAATHT AT i Hfeaa war g

PART — 11

Section — B

Instructions: From question number 49 to 55, attempt any 6 questions.

Traer « woF |eAT 49 | 55 T foheal 6 ToT1 &1 FA 2



Q49. ASSERTION (A): Horizontal analysis is also known as static analysis.
REASON(R): Static analysis is made to review & analyse the financial statements of
one year only.

(a) Both A & R are true & R is the correct explanation of A.

(b) Both A & R are true & R is not the correct explanation of A.

(c) A is true but R is false.

(d) R is true but A is false.

ATHFAT (T): st FEraroror it efaes e & =9 § fT ST S 2

oA (3m): F fa<ig faaont v afyer i By s % forw wefew Hgoor Brar smar
g A UE qu|

(T ) T 3T AT IT T 8 ST AT T ¥ qel ATEAT 2l
(&) T ST T IAT qA & AL A T AT Fel SATAT Al 2l
(1) T HT & AT A7 g 2

(3T) 7 7= g AT T 2

Q50. From the following information, the quick ratio will be:

Bank Overdraft 40000, Trade Payable 10,000, Current Assets: 70,000, Inventories 10,000
Prepaid Expenses 5,000, Advance Tax 5,000.

(a) 1:1.2
(b) 1:1
(c) 5:7

(d) 1.25:1

Rt ST &, @t TaTa gi:



% SrEEgTHE 40000, FATITE I 40000, AT HAT : 40000, T T 10,000, Foe =7
5,000, 3TRM F¥ 5,000

(W) 1:1.2
@& 1:1
(1) 5:7
() 1.25:1

Q51. Current Ratio is 1.5:1. Working Capital is 30,000. What will be the amount of current
liabilities?

(a) 20,000

(b) 60.000

(c) 1,65,000

(d) 1,20,000

T ATAT 1.5:1 81 F1AfT G 30,000 1 AT SARTIAT ¥ 77T FAT FRAT?
() 20,000

(=) 60000

(1) 1,635,000

(3) 1,20,000

Q52. Revenue from Operations Rs.2,00,000; Inventory Turnover ratio 5; Gross Profit 25%.
Find out the value of Closing Inventory, if Closing Inventory is Rs.8,000 more than the
Opening Inventory.

(A) Rs.38,000
(B) Rs.22,000
(C) Rs.34,000

(D) Rs.26,000

FATAT | Trrea/fahT 2,00,000 T3, ST TG AqUTT 5; Tohel ATH 25%]| FATTSRT
Zea el T HF ST AT, AT FATTST Trad T AT Sl & 8,000 T S12F 2|




(T) =77 38,000

(=) =77 22,000
(1) T3 34,000
() T 26,000

Q53. A company’s liquid assets are 6,00,000, inventory is 1,50,000 and its current liabilities
are 4,00,000. Subsequently, it purchased goods for Rs. 1,00,000 on credit. Quick ratio will be

(a) 1.5:1
(b) 1.2:1
(c) 1.4:1
() 1.7:1

T T T 4T /I 6,00,000 T, TET 1,50,000 T ¥ THET TG IARTAT 4,00,000
g1 THF qTE, TAA R s % 00 A1919 @EaET | %iee 92 1,00,0001 ARG SIaTd R

(W) 1.5:1
) 1.2:1
(®1) 1.4:1
() 1.7:1

Q54 The two basic measures of liquidity are:
(a) inventory turnover and current ratio

(b) current ratio and liquid ratio

(c) gross profit margin and operating ratio

(d) current ratio and average collection period

qLAAT % T FAATal 3T &

(T) TeET SraT 3 TqHTT FqaTa



(&) FAETT SATATT ST T STATT
(FFY) et AT AT 3T TR=TaAT ST
() TAH AT MY 36T §Ug Tt

Q55 On the basis of following data, the proprietary ratio of the company will be:

Equity share capital Rs.10,00,000 ; Debentures Rs. 5,00,000; Statement of profit & loss Debit
Balance Rs. 1,00,000; Current Liabilities Rs. 6,00,000, Current Assets 8,00,000.

(A) 70%
(B) 50%
(C) 45%

(D) 75%

fReferfea et & STET 9% FUHT T TTHE AqITT 2N

TIERET QT IEIT 10,00,000 w925 fEe=7 %. 5,00,000; ATH ¥ Fria &1 @<y sfeae aw
. 1,00,000; FTHTT ITATT %. 6,00,000, AT HIT 8,00,000

(T) 70%
(1) 50%
(1) 45%
() 75%
Part — 111
Section — A

Instructions: From question number 56 to 62, attempt any 5 questions.

Toaer « o1 |AT 56 | 62 @ fohegl 5 W1 T gf hiforu)

Q56 What category of functions is used in this formula: =PMT (C10/12, C8, C9,1)

(A) Logical



(B) Financial

(C) Payment

(D) Statistical

= T | T Soft % Ft &1 START R Srar g =PMT (C10/12, €8, €9,1)
() aTfhh

CDAERIR]

(&) T
CUEIREIR]

Q57 When Extend Selection is active, what is the keyboard shortcut for selecting all data up
to and including the last row?

(A) [Ctrl[+[Down-arrow]
(B) [Ctrl]+[Home]

(C) [CtrI]+[Shift]

(D) [Ctrl]+ [Up Arrow]

ST UAE e Toeraerd AR graT g, a1 dATaH qi<h a i saH ortaer a9t 27 &7 949 & forg

TS oTfdshe FAT ZraT 8 2

() [Ctrl]+[1= ]
(@) [Ctrl]+[EH]

(1) [Ctrl]+[Shift]

& [Ctrl]+ [F9% 7]

Q58 Which formula would result in TRUE if C4 is less than 10 and D4 is less than 100?
(A) =AND(C4>10, D4>10)

(B) =AND(C4>10, C4<100).

(C) =AND(C4>10, D4<10).

(D) =AND (C4<10, D4,100)



T C4 10 & 7 & 3T D4 100 & FF g, TT HIT & WAL w1 TR0 TRUE ZRIT ?
(T) =3 (H14>10, $4>10)

(&) = 9T (HT %> 20, " ¥ <t 00)

(1) = 3f% (FT ¥> 90, T ¥ <9 0)

() = 3T (HY 4 <10, 2T 4,100)

Q59 Where is the address of the active cell displayed?
(A) Row heading

(B) Status bar

(C) Name Box

(D) Formula bar

TqFT T T IqT Fgf Taf9TT grar 82

() TR ofrd

@) wem ar

GUEBICEILE:]

) BT T

Q60 Which of the following arguments in a financial function represents the total number of
payments?

(A) FV
(B) PV
(C) Nper

(D) Rate

o=t & ® fAforferd & & %19 |7 % Eam1 il Fof §eIT A7 Jia A rered Har g2



(@) TRAT
CDRIED
GUBEES
() T

Q 61 Which function results can be displayed in Auto Calculate?
(A). SUM and AVERAGE

(B). MAX and LOOK

(C). LABEL and AVERAGE

(D). MIN and BLANK

AT FAFE H AT H HFTT TROTH TZIT /T ST Tt 82
(T)| T A 3T

EKECEIREET

GUIKEREIREE L

()| FATH AT GTAl

Q62 When navigating in a workbook, which command is used to move to the beginning of
the current row?

A. [Ctrl]+[Home]
B. [Page Up]
C. [Home]

D. [Ctrl]+[Backspace] SAMPLE QUESTION PAPER (TERM-1) 2021-22

oY FrargfeaeT ® AfenTe FTd a9, aaAT Uich 6f & § ST o (o0 o6 FHie #7
ST FoF AT STaT 8 2

T [Ctrl][+HE]
EESEE]



1 [=17]
. [Ctrl]+[FFEIE | THAT T T (TH-1) 2021-22

PART — 111
Section — B
Instructions: From question number 63 to 69, attempt any 6 questions.

frger : W=7 TEAT 63 7 69 T Fohegl 6 T & I <TI0

Q63. Which key combination collapses the ribbon?
(A). [Ctrl]+[F1]
(B). [Ctrl]+[F3]
(C). [Ctrl]+[F5]

(D). [CtrI]+[F7]

T T Foit SIS XA I &q%d FLaT 82
(M [Ctrl]+[F1]
(&) [Ctrl]+[F3]
(F) [Ctrl]+{[F5]
(N [Ctrl]+[F7]

Q 64. The CAS should be-
(A) Simple and integrated, transparent, accurate, scalability, reliability.
(B) Complex, Accurate, Transparent, faster to work.

(C) Able to transform the manual accounting system to computerised accounting system.

(D) None of the above.



T BT =R

() T3 3T Ui, Teaefl, 7, arae T, feraeeadr

() sifeer, v, reaeft, w e #21 § a90

(¥T) AT TGT TOITAT Al FFELEHA @ TUTAT H TEeAT H T |
() ITLE | A FIS AL

Q65. The components of Computerised Accounting System are:
(A) Data, Report, Ledger, Hardware, Software.

(B) Data, People, Procedure, Hardware, Software.

(C) People, Procedure, Ledger, Data, Chart of Accounts.

(D) Data, Coding, Procedure, Rules, Output.

FESNFA AGT TUTAT 6 e &

() T, fTe, e, greaa, aireaaw|
(1) 2T, T, Wi, T, At
(&) =, SfFT, AT, 2T, Wt 7 9T
(3T) Tz, FIFET, whHRAT, FE, srsegel

Q66. Where are amounts owed by customers for credit purchases found?
(A) accounts receivable journal

(B) general ledger

(C) sales journal

(D) accounts receivable subsidiary ledger

ST GIE % (1T ATgeh! FTT THTAT T19 Fgl qTS STt @2
(T) 9T A GTd



(&) FTHTT =TT T8t
GUIEEIRIEED

() YT TETF @TAT Tl GTav

Q67. What is the activity sequence of the basic information processing model?
(A) Organise data, process data, and collect data

(B) Collect data, organise and process data, and communicate information

(C) Process data, organise data, and collect data

(D) Organise data, collect data, and communicate information

AT GEAT TEERT Hiee T TiATAFEr F#7 37 8 2

() ST AT F, ST HATAT T, 30T T2 THA L

(&) T UHA FX, ST AGRAT FL ST FATAT F7, 3T TAFRT GaT8 FY
(&) ST FETEAT F, T FHATEAT FY, T T THA FL

(3N) TT FHATEAT T, TeT THA F2, T TAHE GG Y

Q68. Codification of Accounts required for the purpose of:
(A) Hierarchical relationship between groups and components
(B) Data processing faster and preparing of final accounts

(C) Keeping data and information secured

(D) None of the above.

TH TS o (T S ede @rai 1 Sigarh:
() THET AT el & = Avfiag dae

(&) =TeT STETRRT it & 3 sffaw @rat i a3y
(¥f%) =T T g=AT 7 qiea TEAr




(1) UL | q FIS A2

Q69. Which mathematical operator is represented by an asterisk (*)?
(A). Exponentiation

(B). Addition

(C). Subtraction

(D). Multiplication

e TTOT o7 EohTea T AT (*) FTIT F9ATAT SATaT 82
()1 ATATF

CIRIL

GUIREE]

(D1



